К-3    Вариант  18
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Дано:       ОА=10   АВ=10   АС=5    Woa=2    EOA=6

Найти:     Ускорения во всех точках

Va=Woa*OA=20

Va=Wao*Acv=Wab*AB*sin45

 Wab=Va/Cva=4/21/2

Vb=Wab*BCv=Wab*AB*cos45=20

   Vc=Wab*CCv=21/22*BC/2ctg45=521/2/2

aAbp= Eoa*OA=60

aAцс=WOA2*OA=40

aBцс= WOA2*AB=80

                 aB= aAbp +aAцс +aABЦС +aABbp

X:      21/2/2*aB= aAцс +aABBP
Y:      21/2/2*aB= aABP +aABЦС
aABBP ===========  ==MOI===\KOI0-U=140-40=100

EAB=100/10=10

aB= aAвp +aAцс +aACЦС +aACвp

  aACвp = EAB*АВ=50 

aACЦС= WAВ2*АС=40

X:      21/2/2*ac= aAцс +aABBP
Y:      21/2/2*ac= aABP +aABЦС
aC=( acx2 +acy2)1/2
